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TRIGONOMETRIC FUNCTIONS

SECTION A: (1 MARK)
1.  Find the degree measure for the following radian measure: 105° 14°19'6" —171°49'5"

14 1
i) — i) —  (iii) -3
()12 ()4 (iii)
2.  Find the radian measure for the following degree measure: _77 T -3
8

(i) —22°30' (ii) 5°37'30" (iii) — 270°

3.  The minute hand of a clock is 70cm long. How many centimetres does its tip 44cm
move in 6 minutes?

4. -
Find the values of : (i) SinL— 2—:I'”J(ii) co{%—”J(iii)tan[?’S—”J (iv) i'ﬁ'_l'_ﬁ
4 6 6 J2i 23 2
€0s1230° (v) sin1125° (vi) tan 2220° 1
— 3
J2
SECTION B: (4 MARKS)
5. Ahorseis tied to a post by a rope. If the horse moves along a circular path always 70m
keeping the rope tight and describes 88m when it has traced out 72°at the centre,
find the length of the rope.
6.
Prove that cosx+ cos(%[ + XJ + co{z?” - XJ =0
7. . -12 —-36 323
Find the values of (i) SNl + ii) coS\x + iii) tanla + ), if cosa¢ = ——and (i) — (ii) —
() sin(a+ ) (i) cosler+ ) (i) tan(ar+ ) = () e (i) o2
24 ... —36
cosp = 7, where « lies in the second quadrant and fin the third quadrant. (iii) E

8.  Prove that tan 70° = tan 20° + 2 tan 50°

9. Solve the following equations: (i) Sin 26 +sin 460 +sin66 =0
(i) 2sin?@+sin?20 =2
(iii) J3cosO+sing =42 (exemplar)

10. Prove that sin@+sin 30 +sin50 +sin 76 _ tan 40

c0sé +c0s3@ + cos50 + cos76
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SECTION C: (6 MARKS)

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Prove that cos5x =16c0s® x — 20¢0s® X +5c0sXx

3 5 7
Show that cos? g +c0s2 2% 4 cos? ?ﬂ +cos® ?ﬁ =2

sin8dcosf —sin660cos30

. - =tan 20
€c0s20co0sfd —sin 30sin 40

Prove that

V3

Prove that sin10°sin 50°sin 60°sin 70° = E

Prove that c0s20°c0s40°co0s60°c0s80° = %

(cos6 —cos30)(sin 8 +sin 20) 1

Prove that —— - =
(sin50 —sin #)(cos46 — cos6h)

sec80—-1 tan86

Prove that =
sec40-1 tan26

Prove that cos® A+ cos®(A+120°)+cos’(A—120°) =

4tan O(L—tan’ 0)

Prove that tan 40 = 5 7
l1-6tan“&+tan” @

If 0<x<2r, find Sini, COS5 and tanz, when
2 2 2

. 4 N

(i) tanx:—g, X lies in quadrant Il

(ii) COSX:—%, X lies in quadrant Ill

(iii)sin x = g, X lies in quadrant Il

N w

(exemplar)

(exemplar)

(i) —,

(@) ]
-
L Gl

(ii) —J2

o] wlin
=

(iii) E’JE"/E
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